Reproduction: Fungus and Plants

FUNGUS
I.  Fungal Life Cycles (Fig:31.5)
A. Majority of the life is spent as HAPLOID asexual organisms.
1.  This allows the organism to reproduce much faster and colonize a dead organism for food and reduce 
      competition.
2.  Fungi use the diploid state to create variation. (Remember, variation helps with survival in a changing
      environment.
B. ALL sexual reproduction, for ALL types of fungus, involves three steps:
1. Plasmogamy (This is the fusion of cytoplasm.) (+=male; - =female)(The “female” is signaled by the release of pheromones from the “male”.)
a.  This fusion together of hyphae results in heterokaryon (Means “different nuclei”) or Dikaryotic (Means “two nuclei”).
2. Karyogamy (Means the fusion of nuclei) This makes the hyphae now 2n (Diploid) in genetic content.
3. Meiosis of the diploid zygote to return to a haploid (n) state. 
a. Variation has been created due to crossover in Prophase 1 and Segregation of Chromosomes in Anaphase.
C. Six  Major Phylum exists
1. Chytridomycota (The sexual structure is the Chytrids.)(Fig;31.10)
2. Zygomycota (The sexual structure is the Zygosporangium.)(Fig:31.12)
3. Ascomycota (The sexual structure is the ascus - means “sac”.)(Figs: 31.16 and31.17)
4. Basidiomycota (The sexual structure is the Basidium - means “club”.) (Figs: 31.18,31.19, and 31.20)
5. Deuteromycota (These are the Imperfect Fungi - No known means of sexual reproduction; thus imperfect.)

PLANTS

II.               Alternation of Generations Life Cycle in Plants
	        A.     Sporophyte (2n) This generation produces diploid spores that undergo meiosis to become haploid (n).
		1. The haploid spores are released (in the case of the seedless plants - bryophytes and pteridophytes) into the 
                                    environment or retained in the case of gymnosperms and angiosperms (the seed producing plants).
			a. Released spores hopefully will find a suitable environment to grow and produce gametophyte.
			b. Retained spores will develop into a single celled gametophyte, the sperm or egg.
	        B.    The haploid gametophyte (n) produces haploid gametes that are released if male and retained if female.
		1. The male gamete, sperm, travels to the female gamete, egg, to fertilize and form a diploid zygote.
			a. The diploid zygote will grow into the new sporophyte generaration.

      III.              Asexual Reproduction Methods in plants (A.K.A. Vegetative Reproduction or Vegetative propagation)
	        A.    Fragmentation – A piece of the original plant breaks off and lands implants the cut edge in the dirt. 
		1. Parenchymal cells begin to develop missing parts so long as Xylem tissue runs in right direction… up.
	        B.    Apomixis – Seeds develop without fertilization. (No second division of meiosis.)(Just like in parthenogenesis.)
	        C.    Cuttings – “Man” removes a piece and puts in water or soil to grow.  (Like fragmentation; but caused by “man”.)
	        D.   Grafting – This is the combining of two different plants. 
		1. Stock – This is the part with established roots.
		2. Scion – This is the cutting to be attached to the stock plant.
	        E.    Tissue Cultures – This uses separated parenchymal cells to make clones (Fig: 38.12)
		1. These cells are said to be totipotential (means “they can make all types of cells”).
	        



